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No /1 |Aapec ABOPOBO# TePPHTOPHH AR E 2 =
| |Bepruununa, a1.10 826,7 1181
yi. M. bupiososa, . 21; 1. 23; a. 25;
a.27; n. 29; yn. M. Konesa, 1. 9; yi.
M. Cokonosckoro, 1. 6; yia. M.
Mepenkosa, 4. 6; a. 8; a. 10; x. 12
1050 1500
3|JleBuenko, a.4 1079,3 300 1 150 6
4|1-it Bosokonamckui, 1.7, kopr.2 44 35
3000
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I {H. Ononyenus, n.41 861,2 200 152 100 150 5
2{Porosa, a.15, xopn.2 630 90 30 190 2
3|Konesa, a.12 663,8 201 150 20 164 102 6 300 3
4|Tenauunslii nep, a.5 1022 110 50 200 5
5|Bacunesckoro, a.15 564,8 186 4
6|ABMalonnas, 1.59 79,2 30 300 3
7|Bacunesckoro, a.11, k.1 156 120
8|Pacnneruna, 1.8, kopn.2 50 1
9|M.Bupio3osa, 1.8, k.1,2,3,4 140 100
4167
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